|O-LINK EHZE
k28 M

It Trafag R ABR—HUFACH. FIER B ERBURBTNEESH
RE RS ENERLEL, NAI 8273 10-Link EATEBIEA—REREER
2, IR T AL RHIRSN, ERESNAEXNES IEREESENENN
FURE, ERE KR EME BB ERER R T L ERNEBN./NEHR
TENRMENTREBERES,  NAl 8273 AS MR BIEAREE W
EHBF R, FTACENPNAIPNPAMIRIL,

FZF

WA HIE
28

[
[
[
s IRIZEA

NEEE

BHES

NLH @ 25°C (BSL) 284 {&

FERR

NENREREAE

EEC: 5 fEMENE

A EE B @ +25°C BEYE
-0.2..0.2%0...700 bar NERE

10-Link 1.1, COM3, &/)MN LAHARTIE] 1 ms, | IFIREE
BReFRBEEXM ED2

2 BRI PNP/NPN

+0.2% FS H8(E

NAI 8273

EBHHERE 0.3%,0.5%

COM3, B/\iN T EEARTE 1 ms
2 FF<Hitt PNP/NPN RIEC &

RAIE

1 0.5% FS HA(E
1+ 0.3%FS HA(E
-40°C... +125°C

-40°C.... +105°C

Trafag sensors & controls
Switzerland

Industriestrasse 11 +4144 9223232
8608 Bubikon www.trafag.com

sensors@controls

09/2023

HiER HT2621c

B



H72621c

EE TE 1RIRED
[bar] [bar] [bar]
-0.2..0.210 1.2 25
-04..0 1.2 25
-04..040 1.6 25
-1..00 2 25
-1..10 6 50
-1..1.6%9 7.8 50
-l1..4 12 50
-1..6 18 100
-1..10 30 200
-1...16 48 200
-1...25 75 300
0..0210 1.2 25
0..0410 1.2 25
0..10 2 25
0..25 7.5 50
0..10 30 200
0..40 120 300
0..60 180 400
0...100 300 500
0...160 480 750
0..250 750 1000
0...400 1000 2000
0...600 1500 2500
0...700 1500 2500
J%RE 5P: RfESE
0..25 12.5 60
0..4 20 100
0..6 30 200
0..10 50 200
0..16 80 300
0..25 125 300
0..40 200 400
0..60 300 500
0...100 500 750
0..160 800 1000

HEXES, KB 0.5%°
HEXES, $EE0.3%"

G1/4" §M24y, B DIN 3869 (FifE 61/63/83)

G1/4" JMBLy, 2 S5 FEE @ 0.5 mm, ZE: DIN 3869
(Bt 61/63/83) 12!

G1/4" MBS (FEFI3R) EN 837

G1/8"4MELT DIN3852-E, B2t : B4 61 %

1/4" NPT §MBL

1/8" NPT §higsg 10
7/16"-20UNF REB4L, SAE J512 iRl )& kg 2
7/16"-20UNF RE24Y, SAE J512 iRl )& kg 2
7/16"-20UNF JM24L, DIN 3866 2

7/16"-20UNF-2A SMBEY, SAE J1926-2 (Heavy Duty),
A i 61/63 1

BE
[psi] ®
29..29
-5.8...0
-5.8..58
-145..0
-145..145
-145..232
14.5..58
-145..87
-145...145
-145..232
-145...362
0..2.9
.58
.. 145
...36.2
.. 145
... 580
... 870
... 1450
..2320
... 3626
... 5801
.. 8702
..10152

o
-OOOOOOOOOOO

o0 87
.58

.87

... 145
.. 232
... 362
... 580
..870
... 1450
... 2320

o o
© ©O O 0 o 45 o @

BE
[psi]
17.4
17.4
23.2
29
87
113
174
261
435
696
1087
17.4
17.4
29
109
435
1740
2610
4351
6962
10878
14504
21755
21755

181
290
435
725
1160
1813
2900
4351
7252
11603

RIREN
[psi]

362
17.4
362
362
362
725
870
1450
2900
2900
4351
362
362
362
870
2900
4351
5801
7252
10878
14504
29007
36259
36259

870
1450
2900
2900
4351
4351
5801
7252

10878
14504

A8
D3
A9
D4
Bl
B3
B6
B7
B8
B9
co
68
69
71
75
78
81
82
83
85
74
84
86
87

55
56
57
58
59
60
61
62
63
65

NAI 8273

8273. XX XX XX XX XX XX

25
23

17 9/16"-18UNF-2A SMELY, SAE J1926-2 (Heavy Duty),
M 611

15 Rija" shigs, DIN3SSS

53 R1/4" JMESL, DIN2999 9

54 R1/8" JMELL, DIN385S *

30 M10x15MB4L, DIN EN 1SO 6149-2, SMEL, Bkt Mt 61
43 M12x1 JMELL, SMELL, T i 6112

24 M12x1.25 SMELL, SMBLY, BE i 6112
44 M12x1.5 SMELL, DIN EN 1SO 9974-2, JMBLL, Bt : Mt

M14x1.5 M2z DIN EN 1SO 6149-2, SMBLT, Bt : i

69 619
M 2/11

sensors <0 controls



NAI 8273

8273. XX XX XX XX XX XX

BSiEN FBER/MESL M12x1, 4§, PA #7181, IEC 61076-2-101 32

RihES 10-Link 50

Aot LIS M12XL, 5 2 33
FEHEERRETH ¢ 1.0 mm 3 40
FEHIEEFEE TH ¢ 0.4 mm 44
B4t FPM, -18°C ... +125°C 61
%4t EPDM, -40°C ... +125°C 63
%4t NBR,-25°C ... +100°C 83
RS E G :?Eifr 1L+ #EET2 H21/Q, Hst 3 L, T 4 H 1C/Q il
(FF FEERAHESK 32,M12x1, 4 §t)
REEPEXRHTEHLE (B22E0OAH) zC
BESYRE (2FE0ORHA) zs
EdinazL VM

) RPEFETCE

ABFBSEAR
%180 bar (2610 psi) i EB, |RA S IFEFIER 60 bar (870 psi)
4480 bar (6961 psi) 3 EBY, RRAAFESEE 160 bar (2320 psi)
S RERFEAENO 53,24, 44,18

8 10-Link B2 SR EIER BRE

7 O-Link IBI2 &R E4EN EIRE. <0x000A>&if ISDU MR & RE

) TR ENAE 50 MEEH, ATFBERED 32
o) B] i a)
1047 B FARR E 77, 81 0.3 % 23
1600 bar (8700 psi) i EBY, &AL EFIERE 400 bar (5800 psi)
) TR, BEEHRADIN EN 1SO 6149-2
)
)
)

8)

B P [psi] A B AN EIERSE, <0x000A>5 MU [bar]h (I fIE S{EET R
19 1RIBSAE J1926-2(BR) iR, NESTER A H630bar
15 FFIESERE > 2.5 bar

sensors <0 controls

H72621c 3/11

b
=



2
B R E
(ZS i)

FXEHt ouTl
MEEFR Eh
FFX AR PNP
FFXS SP12 75%
FESSP2Y 25%
i iS4 0=5ETEXN
IREER 3=MaR
Hgis 0
BUEER
= FIRERY

BRI
FXREHH OUT2
NEERR P=Eh
T AR PNP
xS SP12 75%
FFxS SP23 25%
ik B4 0=5ETEX
IRERER 3=maiR
el 0

BUEER

= FI3ERY

HIR1TH

ESaE

EANEES 0
FrxbaHpIEE

NAI 8273

HETE EPigE
(ZC Hits)
EN
PNP, NPN

[bar], > SP2, 1.... 100 % ###RE S
[bar], < SP1,0...99 % #7#RE S
H/E SP1-SP2 = 1 % iTHRE )
0==HFTEX (FF)
1=REFEH ()

0=1=H

1=8AEEN

2=H"OERK

3=MaiE

[bar]

WG > 1% IFED
0....65535 [ms]

0....65535 [ms]

0==E=R

1=NPN/PNP: 7 / Push-Pull: &
2=NPN/PNP: 3% / Push-Pull: 1§
3=RIEBHIER

P=EN,T=RE

PNP, NPN

>SP2

[bar] 0... 100 %iTHRES
[°C]-40...125°C

<SP1

[bar] 0... 99 % +FHREH

/G SP1 - SP2 > 1 % #RARES
[°C]-40 ... 125°C, #fg SP1 - SP2 = 1°C
0==BFEX (EF)
1=1REFEH (EH)

0=12H

1=2atEx

2=HOKK

3= FmiE

[bar]

WE = 1% MESD

[°C]=1°C

0....65535 [ms]

0....65535 [ms]

0==81E=

1=NPN/PNP: 7 / Push-Pull: &
2= NPN/PNP: % / Push-Pull: 1§
3= REERIER

0={=H
0;1...65536 [ms], BfiEE4 “tau”

1) ERT "B "M "SRR "8RS
2) ERTFAMRER
3) EBRT "MAR "M B OE "HIEEE

H72621c

%D‘i 4/11 sensors@controls



NAI 8273

RBARE

B EIE BHiES [ HBBE FFX2HH PNP/NPN: 24 (9...32) VDC
10-Link: 24 (18...30) VDC
EHBILR 10-Link Fi#4&:300ms
BB ERBER 4, 70021
RERERIP, 5285RE @ 25°C, 5 SR |0-Link/Out 1 or Out 2: to Us =32 VDC
ETUHFE | ThEHFEY <0.5W
MR NEERE -40°C ... +125°C
MERE -40°C ... +105°C
itiae2 & IP65, IP67
nE =K 95 % HENHE
i) 15 g RMS (20...2000 Hz) (EN60068-2-64)
25 g sin (80...2000 Hz), 1 oct./min, (1x @ 25°C)
(EN60068-2-6)
iz 50g/11ms
100g/6ms (EN60068-2-27)
EMCHEHERA Y iagt EN/IEC 61000-6-3
TG EN/IEC 61000-6-2
IEC61131-9
k7 ¢ ERk3s (RN R) 1.4542 (AISI630)
ENEO (FRAR) 1.4542 (AISI630)
shE 1.4301 (AISI304)
Paa) BITMER
HEEHEK SIITHER
B8 ~50g
REHE 25Nm
VB ESEE
) FREH IR E
H72621c BT 5/11 sensors@controls



NAI 8273

BHANERE

MEFEE 0.3 % MEFEE 0.5 %
TS 23 11185 25
METE [bar] >0.2 >0.6 >2.0 225
<0.6 <2.0
[psi] >29 >8.7 >29 >36.2
<87 <29
BIREH @-25... +85°C [% FS F28!fE] +2.0 t15 +1.0 +1.75
FBE @ +25°C [% FS $28!fE] +0.8 +0.6 103 +05
NLH @ +25°C (BSL) [% FS 528! (#) +£02 402 +0.2 +0.2
TC ERfREMEIEERE [% FS/K $a8U(E] +0.02 +0.02 +0.01 +0.03
1 FKEIRE @ +25°C [% FS 888 {E] 103 +0.2 t0.1 t0.1
180° fieks i B X (RehflHs) [mbar] 0.5 0.5 0.5 0.5
ENEEFL790.3%,
=0.2 bar...< 0.6 bar > 0.6 bar ... < 0.2 bar
5 5
4 — P & 4 —
.3 —~ — — — I .3 N
]2 — = — == — ®2 —_ 5= —= =
=) =t=1T1 = T = ]
go4+——t++—F——++H——+—"t—1-T+——t—+HH So4+——t+-+—"F—1—F+FE——+—+—t——1-—~—t—H
El e T8 D ey El —— e o e ey e
27 P e £ - T T — 1
ST T :
S50 40 30 20 -10 0 10 20 30 40 50 60 70 80 90 100 110 120 130 50 40 30 200 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130
Temp.(°C) Temp.(°C)
max. — — typ.—— [ TEB(-25...+85°C) max. — —  typ.—— [ TEB(-25..+85)
= 2.0 bar
5
4
3 — .-
82 T ——— — i
=1 - —
So+——t++"—"1T"—F—FE—FF "t~ —t—+HH
g —= T 1 — —
£ o = |
H
-50 40 30 20 -10 0 10 20 30 40 50 60 70 80 90 100 110 120 130
Temp.(°C)
max. — —  typ.—— 1 TEB(-25...+85)

EHNREEFLF0.5%,

7
6 —
H B =
3 = =
[ 4o =+ —
=1 — L = 1
8 0-——F-F——1—1 E——+——t——t —t—-t4
El = T = ——
g2 = iy —
3 = =
| — ~ |
3 ==
7
50 40 30 20 0 0 10 20 30 40 50 60 70 80 90 100 110 120 130
Temp. (°C)
max. — —  typ.—— 1 TEB(-25...+85)
H72621c $Er6/11

sensors <0 controls



NAI 8273

mEENE

NEEEE" @ NEREE
VB [HEE] -20°C
0°C
+25°C
+85°C
+125°C
REEE -40°C...+125°C
RERE
BE @0°C... +80°C
REEE

+ 5K+0.14x
+3K+0.14x
+2K+0.14x
+3K+0.14x
+6K+0.14x

B

(THE-TH
(T ¥F85 -
(THRIE -
(THRSE -
(THEE-T7

+1.5°C

-40°C.... +125°C

VA RRENERERFENNEREEN0.3 % (11923),

FxEMRH
HBE S2RR‘BHIERE
BERHE 2T XIREREL (SIORL; SIO=1mEI0) Outl, Out2
MEERR [EAFGRE (Outl 71 Out2)
Lorfant it PNP,NPN, AIi& &
HtimTee IhEEET. B RUE S, R, BOE; BE (NO) , BFF (NC) o FFB/XHIEE ; B2 ; AlEE 10-Linkig (AL &
FFXRER -40°C ... +70°C RIFRE RAIRE, SERFAL 300 mA
>+70°C ... +105°C RIZRE Z2REHAER
FRAEME <110
BB PR &k
fER% >100 x 105{&HF
FrxE <300 Hz
R NzAS{E] 1.6 ms
FF R
BHEARRERE
?é 700 i
— 600 v
g :
3 300 ’
i : ~

50 40 30 20 0 0 10 20 30 40 50 60 70 8 90 100 110 120 130
Temp.(°C)

—— max. load of each switching output C/Q, I/Q

H72621c $m7/11

sensors@ controls



NAI 8273

BfEE0 SDCI #7E IEC 61131-9 |0-Link
e COM3 (230,4 kBaud)
|0-Link 1&1Thi V1.1
15T /BRAESE RBIFNIZHT (0x4000) o
MEEIEEE (0x800A)
MEFNFF X (ZE%35 (DMSS) , SSP4.1.2
SI0 3 =
PR EIHOES 1Rl A
53, N T A HART 1) [ms] 1
DUEREANE BESETROER
DRERENSE [K] 0.01
10-LinkiZ #2042 (R HA14) E/3[Pa] 16 bit
EOBFXES 2 bit
BE [°C] 16bit
RERE, EIREEN 0.5%
NERE, EIEER 0.3%
BENFXES 2 bit
BERE 4 bit
10-LinkZ8E (A HAME) BEMBNE; NRRE. IRERE; TTNEITRE, R/ RAENE; RV ERXEEE; ENIHITEH
2 RETHIT i
IODDTF & https://ioddfinder.io-link.com
R~

M12x1
0188

8273.XX.XXXX.32.XX.XX

H72621c

$me/11

54...60

8273 XX.XXXX.XX.XX.33

sensors@ controls



26
17
&
= —f—- -
¥
2l
Zls
8273.XX.XX30.XX.XX.XX
225
L 45
=
&[T
= 2 o~
25
~
8273 . XX.XX18.XX.XX.XX

R1/4"

DIN2999

L
|

8273.XX.XX20.XX.XX.XX

20

M12x1.25

021

>
DINENISO 61492 3

8273.XX.XX65.XX.XX.XX

H72621c

G1/4"

int. dampin;;

00.5

DIN 3869

Seal
SW19
a1

8273.XX.XX15.XX.XX.XX

/8"NPT
7

SW19
2

8273 . XX.XX43.XX.XX.XX

0-Ring 11
08.92x1.83
M5x7 _

7/16"-20UNF
SAE4(J1926) 921
HEX19

8273 . XX.XX69.XX.XX.XX
19
10
[ee]
L
. @
08| {—
> o
&‘_
Sla

8273.XX.XX16.XX.XX.XX

21
12

DIN EN 1SO 9974-2

M12x1.5

A

Seal DIN3869

8273.XX.XX49.XX.XX.XX

05

G1/4"
EN837
09.5

SW19

8273.XX.XX53.XX.XX.XX

4.5 ‘—j

7/16"-20UNF SAE J512

861 LOW19
021

8273 .XX.XX24.XX.XX.XX

O-Ring |12
012x2

M5x7 /7]

9/16"-18UNF @21
SAE6 (J1926) HExo

8273 . XX.XX6T.XX.XX.XX

DIN EN IS0 6149-2
1 Re)
j

M10x1

SW19
021

8273.XX.XX32.XX.XX.XX

DINENISO 6149-2

M14x1.5

8273. XX XX3L.XX.XX.XX

M 9/11

02

G1/8"
DIN3852-F

NAI 8273

18.5

{ |
Seal

S —
DIN3869 E g

8273.XX.XX54.XX.XX.XX

o
o
=
el 13.5
Z| 45
8 _r—\
° —
~y ¢
—]
8.6] \SW19
g 21
8273 XX XX44. XX XX.XX
19
10
o ' ou—
. 2
21T
o O
Sy
Sls

8273 . XX.XX19.XX.XX.XX

Seal
DIN

20
1

M12x1

@21

o
ENISO 61492 =

8273.XX.XX64.XX.XX.XX

sensors@controls



NAI 8273

BSiEO
PitpR B REE
IP65, IP67 *) **)
M12x1
445
32
32
e
1
oL L+
g igEpEph
A——® L+ (pos. Supply) —> 1 ClQ ouTt
PIT ——O ut2:1Q  ——> 2 Standard 1/0
out O out1:C0@——> 4 L-
——O L~ (neg.Supply) > 3
i -ourz » Standard 1/0
8273.xx.xxxx.xx.50

PAEFRIZIRME R AR FLIZN B
)\ kR4S

HT72621c 287110/11 sensors@controls



TheeFF Xtk

NAI 8273

BaE AR &0
PT PT P T
SP1 I SP1 SP1
Hyst
""""""""""""" \ SP2 SP2
t t L t
ON High Active ON High Active ON| = High Active
(Hno) (Hno) (Fno)
OFF e OFF — OFF o
ON S ON @ ON bt &
Low Active Low Active Low Active
OFF (Hnc) OFF (Hnc) OFF _I_ (Fne)
wE
PT
SP1 A/
SP2 I
t
ON High Active
(Hno)
OFF
ON ‘ —
Low Active
OFF (Hnc)
Activation Deactivation
Delay Delay
F xR i
PNP NPN US +
r—+—US + %RL
PIT /1 L US - PIT L Tout1, 0ut2
| @i_m
Out1,0ut2 —US -
| RL |
earth Us - earth
AEERRF RN

Xt

HiER www.trafag.com/H72621

1R1EIER www.trafag.com/H73621

IMRF www.trafag.com/H70621

REER www.trafag.com/H73664

Boft www.trafag.com/H72258
H72621c

B 11/11

sensors <0 controls



